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HiHa—pn 21,662 1,536 HHa—) 150 0 A HHa— 21,161 9,230 FHHHa-v 150 0
e M4 37,263  -8413| & it |mfHa-p 4,129 -992 15 Ft | oy 27,609 -1,861] 1§ Ft |-V 710 =590
s 58,925 -6,877 i 4,279 -992 # 48,770 7,369 s 860 -590
"% FHHa—v 19,712 1,636 |96 HHa—n 0 0 b)5) A HHa— 19,211 9,230 |95 HHHa—n 0 0
(B 13) |®mfHEa—p 31,622 -5,264 (B 13) |®mfHa—p 0 0 (B 7)) |®mEa— 22,759 -11 (B 3 |#fHa—p 0 0
&t 51,334 -3,728 &t 0 0 &t 41,970 9,219 it 0 0
AHHHa—y 0 0 HHHa—n 0 0 HiHa—n 0 0 HHHa—n 0 0
s ER - 10 =371 4 R | {2 5,864 2,384 s R | Mo 0 o] 4 ¢R |EEfHa- 3,395 -1,655
s 10 -37 i 5,864 2,384 # 0 0 s 3,395 -1,655
HHHa—L 0 0 HHHa—L 1,084 -135 HHa—L 0 0 HHHa—L 770 -288
FoHgR | M- 1,731 615 2R | MEfHa— 2,885 -172 FoHgR | M- 1,880 160] 2R | MEfHa—-L 1,200 -2,144
it 1,731 -615 &t 3,969 -307 &t 1,880 160 &t 1,970 -2,432
Hia—pn 889 -1,204 HiHa—p 567 52 HHa—)y 680 380 HHHa—nv 567 0
f54h4 | -y 641 89| B4 |MEiHa—n 4,497 -18 5&We | EmHa—) 695 170 1§44 | o) 1,700 -2,650
{54 2} 1,530 -1,115 {54 2} 5,064 34 {54 =t 1,375 550 {54 2} 2,267 -2,650
HHHa—n 0 0 FHHa—) 0 0 HHa—y 0 0 AHa-p 0 0
ERRAE | - 2,037 -146| BRI | MHa- 7 -6 BR[| - 1,100 -800| SEMHRH | MiHa-L 0 0
it 2,037 -146 &t 7 -6 &t 1,100 -800 &t 0 0
AL 0 0 Hfda—n 1,801 1 Ha—n 0 0 HHa—y 1,800 0
AR - R4 e | MEFHa— L 13 13FESR - GIEA 363 e a—)) 18,476 -361 EIE 2« GIE 4 3560y fiEfH a— )L 30 30FES - R4 33y fHEHH a—)) 22,415 2,085
s 13 13 it 20,277 -360 3 30 30 s 24,215 2,085
HHHa—-n 0 0 HHHa—-n 0 0 HHa—y 0 0 HHa-p 0 0
R R EFHa—)) 1,267 1,024 A 8 & | EHa- 0 0 £ HE R | EHa- 1,700 1,000 A 8 R | EHHa- 0 0
it 1,267 1,024 it 0 0 &t 1,700 1,000 it 0 0
HiHa—pn 1 1 Hia—p 1,306 -64 HiHa—py 0 0 Hia—p 1,290 -80
O il M- )L 2,712 -236] & O fh | EfHI-L 4,262 -11 Ol | -y 2,765 25| = o |#EHa-v 2,259 -831
s 2,713 -235 it 5,568 -75 2 2,765 -25 s 3,549 -911
HHHa—u 22,653 207 HHHa—L 6,329 -844 HHa—L 22,141 9,910 HHHa—L 5,489 404
e Et MEFH 2y 65,710 7,127 WA E EFHa—)L 65,710 -7,127 e S i = B 42,579 -13,421| & FF | EHa- 42,579 13,421
it 88,363 -6,920 it 72,039 -7,971 7t 64,720 -3,511 it 48,068 13,017
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2018 4£ 7 H FReR|a— VG KRS

AL AR HIPT: BARSRT

2018 4 7 H ¥ERERIo—/ L H Kk &

HUAZ AR T HARSRAT

CHLFD APk miH b QIUED) A PR RiH b CHL T AXRFRE | #iH (GUED) AXFEE | miHk
AHHHa—y 0 0 Ao 0 0 AfHa—) 0 0 Ao 0 0
R AE K | Mo 901 270] #B R 5 3¢ | HEfHa— 3,478 -1,360 i ER A % | o 540 o & #8 & 3% | MEfHa—p 100 100
s 901 270 s 3,478]  -1,360 2 540 0 s 100 100
Hia—n 122 21 Hia—n 1,905 484 HHHa—n 100 -200 HiHa—n 1,209 297
o 4R HEFHO—) 18,076 -1,329] M 4R | M2 27,269 6,517 Mo R | - 16,390 10,130] H1 4R | 4EiHa-L 22,925 12,025
&t 18,198 -1,308 &t 29,174 7,001 &t 16,490 9,930 it 24,134 12,322
HiHa—p 22,731 1,069 HHa—n 150 0 HHHa—pn 8,541 -12,620 Hia—p 150 0
e MEHH ) 44,886 7.623] & | mE#Ha-L 2,164  -1,965 15 Ft | oy 30,503 2,894 1§ Ft |EHa- 1,037 327
s 67,617 8,692 s 2,314]  -1,965 £t 39,044]  -9,726 i 1,187 327
%5 -V 20,781 1,069 |oH HiHa—n 0 0 0)5) HHHa—n 6,591 -12,620] |96 -V 0 0
& 15) |- 35,801 4,179 #F 13) | a2y 0 0 B 17) |-y 17,123|  -5,636 #F f3) | MEfEa—y 0 0
it 56,582 5,248 it 0 0 &t 23,714] -18,256 it 0 0
AHHHa—y 0 0 HHHa—n 0 0 HHa—n 0 0 o) 0 0
s ER S 10 of 4+ & |MEHI-0 6,502 638 s R | I 0 of s 4R ||y 4,845 1,450
it 10 0 it 6,502 638 gt 0 0 it 4,845 1,450
HHHa—L 0 0 HHHa—L 677 -407 HHa—L 0 0 HHHa—L 658 -112
FoHgR | M- 2,150 419 FoHngR | Mo 1,896 -989 FoHgR | M- 1,545 -335| FH2MhdR | M Ho-u 1,500 300
&t 2,150 419 it 2,573 -1,396 &t 1,545 -335 it 2,158 188
Hia—p 886 -3 HHHa—n 567 0 - 550 -130 HiHa—p 567 0
544 | EEfHa—) 733 92| Behe |EHa-L 4,523 26 B4 e | EmHa— 635 60| 1E4&H4 | EHa-v 4,950 3,250
154 2t 1,619 89 [ 2t 5,090 26 (R Fin 1,185 -190 Fa it 5,517 3,250
HHa—L 0 0 HHHa—v 0 0 HHa—L 0 0 HHa—L 0 0
ERRRE | - 1,212 -825| JEMRH | MiHa- 16 9 BRI | S 1,030 -70| ARG | EEHa-v 0 0
it 1,212 -825 it 16 9 &t 1,030 -70 it 0 0
Hia—p 0 0 Hia—ny 1,800 -1 HHHa—pn 0 0 Hia—ny 1,800 0
AIER - FIEAR 356K | e a—)) 3 —10RESR R4 3¢ 3 MR a—)) 20,164 1,688 EIE 2« GIE 4 356y fiEfH a— )L 0 —30FES - RIEA 363y fEEdH a—)y 13,270 -9,145
it 3 -10 it 21,964 1,687 gt 0 -30 it 15,070 -9,145
AHHa—y 0 0 AHa—)y 0 0 AHHHa—) 0 0 HfHa— 0 0
A HE G| EHEa- 1,632 365 A fE R | EEHa-v 0 0 £ HE R | EHa- 1,600 -100] A B H | EEa- 0 0
it 1,632 365 &t 0 0 Zt 1,600 -100 it 0 0
HiHa—p 0 -1 HiHa—p 1,047 -259 HHHa—py 0 0 AHHHa—L 1,050 -240
oK) M- )L 1,978 =734 O fh | EHI-L 5,569 1,307 Ol | -y 1,215 -1,650] & o |EHa-V 4,831 2,572
it 1,978 -735 it 6,616 1,048 &t 1,215 -1,550 it 5,881 2,332
HHHa—L 23,739 1,086 HHHa—L 6,146 -183 HHa—u 9,191 -12,950 HHHa—L 5,434 -55
wEE | o 71,581 5871 # A& 3 HEFHO—) 71,581 5,871 e S i B 53,458 10,879 # A | EHa-y 53,458 10,879
it 95,320 6,957 it 77,727 5,688 it 62,649 -2,071 it 58,892 10,824
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2018 4 8 H FReR|a— VG EEE

AL AR HIPT: BARSRT

2018 4 8 H EfeRIa— LG H Kk

HUAZ AR T HARSRAT

CHLFD APk miH b UED) A PR RiH b CHLFD AXRFRE | #iH (GUED) AXFEE | miHk
AHHHa—y 0 0 Ao 0 0 AfHa—) 0 0 Ao 0 0
AR % 3 | A 763 -138| #F R % X% | M- 6,478 3,000 R L5 ¢ | Mo 540 o #B 4R %5 3¢ | MEFHa—L 5,320 5,220
s 763 -138 s 6,478 3,000 £t 540 0 i 5,320 5,220
HHHa—L 85 -37 HHHa—u 2,619 714 HHa—L 100 0 HHHa—L 2,197 988
Ho R EFH - 16,627 -1,449] H1  $R | M2 31,066 3,797 Mo gR | - 15,550 -840 M1 4R | Mo 30,316 7,391
it 16,712 -1,486 it 33,685 4,511 &t 15,650 -840 it 32,513 8,379
HiHa—p 19,710 -3,021 HHHa—n 150 0 FHHHa—n 24,011 15,470 HHHa-v 150 0
f§ #t - 52,195 7,309 1§ R | MEHHo- 2,928 764 f§ 7t |4z 56,550 26,0471 & #t |- 2,246 1,209
s 71,905 4,288 s 3,078 764 £t 80,561 41,517 g 2,396 1,209
"% FHHa—v 17,760 -3,021] 95 HHHa—V 0 0 0)5) HiHa—n 22,061 15,470 |95 HHHa—L 0 0
(B 13) |#fHa—p 39,578 3,777 # 13) | a2y 0 0 B 17) |-y 37,650 20,527 #F 13) | fE4Ha—p 0 0
it 57,338 756 &t 0 0 &t 59,711 35,997 it 0 0
AHHHa—y 0 0 Ao 0 0 AfHa—) 0 0 Ao 0 0
s ER M- )L 62 52 4+ &R |- 4,435 -2,067 s 4R | o 0 o] 4 4R |- 5,170 3925
it 62 52 it 4,435 -2,067 gt 0 0 it 5,170 325
HHHa—L 0 0 HHHa—L 1,130 453 HHa—L 0 0 HHa—L 458 -200
2R MEFH 2y 1,854 296 FE2HhgR | MEfHa-L 2,235 339 FoHgR | M- 1,385 -160| ZHE2HhgR | MEFHa- 1,780 280
it 1,854 -296 it 3,365 792 &t 1,385 -160 it 2,238 80
HiHa—pn 773 -113 Hia—pn 569 2 HHHa—pn 1,110 560 HHHa—nv 617 50
544 | -y 641 92| fFavée | EEa-) 5,144 621 54 e | EmHa—) 645 10] E&h4 | EHa-L 5,370 420
(EE: it 1,414 -205 54 2t 5,713 623 154 =t 1,755 570 {54 2} 5,987 470
HHa—L 0 0 HHHa—L 0 0 HHa—L 0 0 AHHa—L 0 0
ERRRE | - 2,786 1,574 BRI | MEfHa-L 16 0 BARKE | - 2,350 1,320] MR | MHa—- 0 0
&t 2,786 1,574 it 16 0 &t 2,350 1,320 it 0 0
HiHa—p 0 0 Hia—ny 1,800 0 FHHHa—n 0 0 HHHa—n 1,800 0
AIER - GIEA 5% | e a—)) 0 —3RESR - RIEA 363 i a—)) 19,318 -846 EIER - R4 353 E4H a—) 0 OFIE - GIE4 353y M a— )1 20,678 7,408
it 0 -3 it 21,118 -846 gt 0 0 it 22,478 7,408
AHHa—y 0 0 AHHa—y 0 0 AHHHa—) 0 0 HfHa—n 0 0
EHE G | EHEa- 733 -899| E R |- 0 0 £ HE R | EHa- 3001 1,300 ZE 8 R | HEHI-L 0 0
it 733 -899 it 0 0 &t 300  —1,300 it 0 0
HiHa—pn 1 1 HiHa—p 1,065 18 HHHa—pn 0 0 HHa—n 1,190 140
% D th M- )L 1,572 406 * O fh | WfHa- 5,613 44 Z O | EdHa- 1,040 175 = o fh | EHI- 7,480 2,649
it 1,573 -405 it 6,678 62 &t 1,040 -175 it 8,670 2,789
Hia—pn 20,569 -3,170 Hia—n 7,333 1,187 HHHa—n 25,221 16,030 HHHa—np 6,412 978
wE R | o 77,233 5,652 # A F HEFHO—) 77,233 5,652 e S i B 78,360 24,902 # & F | o 78,360 24,902
it 97,802 2,482 it 84,566 6,839 it 103,581 40,932 it 84,772 25,880
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2018 4 9 H FReR|a— VG KRS

AL AR HIPT: BARSRT

2018 4 9 H ¥ERERIo— L H Kk

HUAZ AR T HARSRAT

CHLFD APk miH b UED) A PR RiH b CHLFD AXRFRE | #iH (GUED) AXFEE | miHk
AHHHa—y 0 0 Ao 0 0 AfHa—) 0 0 Ao 0 0
AR % 3 | A 479 -284| # R % X | M- 8,849 2,371 R L5 ¢ | Mo 540 o #B 4R %5 3¢ | MEFHa—L 7,000 1,680
s 479 -284 s 8,849 2,371 £t 540 0 i 7,000 1,680
HHHa—L 62 -23 HHHa—u 2,501 -118 HHa—L 300 200 HHa—u 617 -1,580
Ho R EFHa—)L 14,806 -1,821] M1 4R | MEHa- 30,435 -631 Mo ER | - 3,510 -12,040] Hu 4R | 4EFHI— 18,000 -12,316
&t 14,868 -1,844 &t 32,936 -749 &t 3,810] —11,840 &t 18,617| —13,896
HiHa—p 22,682 2,972 HHHa—nv 150 0 A HHa— 9,452 14,559 HHa—L 150 0
f§ #t - 60,770 8,575 1§ Ft | fEfHa—p 3,302 374 g F& |-V 42,781 -13,769) 1§ Ft |- 0 -2,246
s 83,452 11,547 s 3,452 374 £t 52,233| 28,328 i 150 -2,246
9)5) FHa—V 20,732 2,972 |95 HHHa—L 0 0 0)5) HHHa—n 7,502 -14,559] |9HB HHHa—V 0 0
& 15) |- 43,244 3,666 #F 13) | -y 0 0 B 17) |-y 24,921 -12,729 # f3) | MEfEa—y 0 0
&t 63,976 6,638 it 0 0 &t 32,423| 27,288 &t 0 0
AHHHa—y 0 0 HHHa—n 0 0 HiHa—n 0 0 Ao 0 0
s ER M- )L 125 63 4+ &R | o 6,180 1,745 s 4R | o 0 o] 4 4R |- 2,990 -2,180
it 125 63 it 6,180 1,745 gt 0 0 it 2,990 -2,180
HHHa—L 0 0 HHHa—L 1,035 -95 AHHa—L 0 0 HHHa—L 870 412
FoHgR | M- 1,530 -324) FEoHER | MEfHa- 2,753 518 FoHgR | M- 1,110 275 FF2HhgR | M Ho-v 839 -941
it 1,530 -324 it 3,788 423 &t 1,110 -275 it 1,709 -529
Hia—p 1,026 253 HHa—n 546 -23 HHHa—pn 520 -590 HiHa—pn 387 -230
544 | -y 635 -6 Ee&he |EHa-L 4,976 -168 & e | EmHa—) 510 -135| E4&H4 | EHa-u 2,970 -2,400
(G it 1,661 247 {54 2t 5,522 -191 154 =t 1,030 -725 {54 2} 3,357 -2,630
HHHa—L 0 0 HHHa—V 0 0 HHa—L 0 0 AHHa—L 0 0
ERRRE | - 3,609 823 BEARAM | M- 7 -9 BARKE | - 2,450 100| BEARHE | EfHa-v 0 0
it 3,609 823 it 7 -9 &t 2,450 100 it 0 0
A 0 0 Hfda—pn 1,800 0 HHa—n 0 0 HHa—y 1,800 0
RIESAR - GIEAR 3% | MEHHa—)) 0 OFES - RIEA 33 M a—)y 19,039 -279 FIE 2« GIE 4 350y i fH a— )L 0 OFIE « GIE4 353y fiEfH a— )1 14,190 -6,488
it 0 0 it 20,839 -279 gt 0 0 it 15,990 —6,488
Hia—pn 0 0 HiHa—n 0 0 HHHa—n 0 0 FAHa— 0 0
EHE G | EHEa- 680 -53| R | mEa- 0 0 £ HE R | EHa- 1,350 1,050 4 8 HF | EHa- 0 0
it 680 -53 it 0 0 &t 1,350 1,050 it 0 0
HiHa—p 1 0 Hia—pn 1,173 108 HiHa—pn 0 0 - 1,170 -20
O il P o)y 1,654 82| o |- 8,747 3,134 O fh | -y 1,930 890 = o fth |0 8,192 712
it 1,655 82 it 9,920 3,242 &t 1,930 890 E 9,362 692
HHHa—L 23,771 3,202 HHHa—u 7,205 -128 HHa—L 10,272  -14,949 HHHa—L 4,994 -1,418
e Et MEFH 2y 84,288 7,055 ¥ A F EFH -V 84,288 7,055 e S i1 B 54,181 -24,179] # & & | EEfHa—p 54,181 24,179
it 108,059 10,257 it 91,493 6,927 #t 64,453| —39,128 B 59,175 —25,597
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2018 £ 10 H ZERERI=— T FYk S

AL AR HIPT: BARSRT

2018 4 10 H 2ERER=— LG H Kk S

HUAZ AR T HARSRAT

CHLFD APk miH b UED) A PR RiH b CHLFD AXRFRE | #iH (GUED) AXFEE | miHk
AHHHa—y 0 0 Ao 0 0 AfHa—) 0 0 Ao 0 0
R % 3 | A 550 71| #B 4R %5 X | a2 8,501 -348 R L5 ¢ | Mo 540 o #B 4R %5 3¢ | MEFHa—)L 3,500 -3,500
s 550 71 s 8,501 -348 £t 540 0 i 3,500 -3,500
HiHa—n 50 -12 Hia—p 2,655 154 HHHa—n 100 -200 Hia—pn 909 292
Ho R HEFH ) 15,081 275 Hi R | Mo 35,056 4,621 Mo ER | - 14,890 11,380 M1 4R | MEHHa- 24,818 6,818
&t 15,131 263 &t 37,711 4,775 #t 14,990 11,180 it 25,727 7,110
Hia—p 18,662 -4,020 HiHa—p 150 0 HHHa—pn 11,062 1,610 HHa—n 150 0
e M4 63,409 2639 & |EfHa-L 3,397 95 15 Ft | oy 45,528 2,747 1§ it | EfHa- 500 500
s 82,071 -1,381 s 3,547 95 £t 56,590 4,357 g 650 500
%5 FHa—V 16,712 -4,020] 95 FHHa—v 0 0 0)5) HiHa—n 9,112 1,610] |»5H HHa—V 0 0
& 15) |- 46,291 3,047 # 13) | a2y 0 0 & 17) |-y 29,288 4,367 # f3) | M-y 0 0
it 63,003 -973 it 0 0 &t 38,400 5,977 it 0 0
AHHHa—y 0 0 Ao 0 0 AfHa—) 0 0 AfHa—) 0 0
s ER M- 68 57| 4+ R | M2 6,875 695 s R | Mo 0 o] 4+ ¢R |EEfHa- 4,445 1,455
it 68 -57 it 6,875 695 gt 0 0 it 4,445 1,455
HHHa—L 0 0 HHHa—L 1,151 116 HHa—L 0 0 HHHa—v 920 50
2R MEFH 2y 1,727 197 FoHgR | Moy 3,419 666 HoMisR | MEHHa- 940 -170] ZF2HhgR | MEHHo- 2,150 1,311
it 1,727 197 &t 4,570 782 Zt 940 -170 it 3,070 1,361
HiHa—p 1,261 235 HiHa—p 527 -19 FHHHa—n 490 -30 HiHa—p 617 230
544 | EEfHa—) 438 197 §4&+4 | EfHa—y 5,057 81 B&we | EmHa—) 445 65| 1E4&H4 | EHa-v 4,850 1,880
24 3 1,699 38 F4 iR 5,584 62 G 3t 935 95 (EES it 5,467 2,110
HHHa—L 0 0 HHHa—L 0 0 HHa—L 0 0 AL 0 0
ERRRE | - 3,019 -590| EMRFE | MEa- 13 6 BR[| S 1,500 -950] JEMRH | EiHa-L 0 0
it 3,019 -590 it 13 6 &t 1,500 -950 it 0 0
HiHa—p 0 0 HiHa—p 1,800 0 FHHHa—L 0 0 HHa—n 1,800 0
AR - R4 e | MEFHa— )L 0 OFEZR - RIEAr 33 4 a—)y 16,292 -2,747 EIER - RIE4 33 M 4H a—)y 0 OFIE « GIE4 353y M a— )L 15,665 1,475
it 0 0 it 18,092 -2,747 gt 0 0 it 17,465 1,475
AHHa—y 0 0 AHHa—ny 0 0 AHiHa—) 0 0 HfHa— 0 0
EHE G | EHEa- 1,702 1,022 R | EHa- 0 0 £ HE R | - 1,200 -150] A B H | EEa-y 0 0
it 1,702 1,022 it 0 0 &t 1,200 -150 &t 0 0
HiHa—pn 1 0 Hia—pn 1,170 -3 - 0 HiHa—p 1,170 0
D Ath M- )L 1,859 205 o fth | MEfHa- 9,243 496 T Dt | EHa—Y 1,805 -125) = o fh | EHI-Y 10,920 2,728
it 1,860 205 it 10,413 493 &t 1,805 -125 it 12,090 2,728
HHHa—L 19,974 -3,797 HHHa—u 7,453 248 HHa—L 11,652 1,380 AHHHa—y 5,566 572
A Et MEFH 2V 87,853 3,565 # A F EFH - 87,853 3,565 W E R | - 66,848 12,667 ¥ A& F EFH -V 66,848 12,667
it 107,827 -232 it 95,306 3,813 #t 78,500 14,047 it 72,414 13,239
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2018 £ 11 H 2EpER=— LG H Kk S

HUAZ AR T HARSRAT

CHLFD APk miH b UED) A PR RiH b CHLFD AXRFRE | #iH (GUED) AXFEE | miHk
AHHHa—y 0 0 Ao 0 0 AfHa—) 0 0 Ao 0 0
AR % 3 | A 541 9| #B 4R 2 K | i 8,895 394 R L5 ¢ | Mo 540 o #B 4R %5 3¢ | MEFHa—)L 3,800 300
s 541 -9 s 8,895 394 £t 540 0 i 3,800 300
HHa—L 91 41 HHHa—L 1,771 -884 HHa—L 97 -3 HHHa—L 1,165 256
Ho R EFHa—)L 14,168 913 H1 R | M2 31,345 -3,711 Mo ER | - 14,570 =320 M 4R | Mo 28,340 3,522
it 14,259 -872 it 33,116 ~4,595 &t 14,667 -323 it 29,505 3,778
Hia—pn 15,272 -3,390 HiHa—p 150 0 HHHa—py 19,096 8,034 HHa—n 150 0
= = ME4H ) 58,425 -4.984| & it |mfHa—p 3,358 -39 15§t | o 46,761 1,233 & Ft |MEfHa—p 0 —500
s 73,697 -8,374 s 3,508 -39 £t 65,857 9,267 i 150 -500
%5 -V 13,322 -3,390] o5 HHHa—V 0 0 0)5) HiHa—n 17,146 8,034 |95 HHa—L 0 0
(B 13) |®mfHEa—p 39,582 -6,709 #F 13) | a2y 0 0 & 17) |-y 29,480 192 & 15) | M- 0 0
&t 52,904 -10,099 it 0 0 &t 46,626 8,226 it 0 0
AHHHa—y 0 0 HHHa—n 0 0 AfHa—) 0 0 Ao 0 0
s ER M- )L 0 -68] 4+ &R | o 5,786 -1,089 s 4R | o 0 o] 4 4R |- 4,496 51
it 0 -68 it 5,786 -1,089 gt 0 0 it 4,496 51
HHa—u 0 0 HHHa—L 908 -243 HHa—L 0 0 HHHa—L 820 -100
FoHgR | M- 1,421 -306| FE2HhgR | MEfHa- 3,249 -170 FoHgR | M- 1,270 330] FEoMigR | Moy 4,020 1,870
it 1,421 -306 it 4,157 -413 &t 1,270 330 it 4,840 1,770
Hia—p 507 ~754 HiHa—pn 616 89 HHHa—pn 430 -60 HiHa—pn 576 -41
544 | -y 289 149 4+ 4 | EfHa—y 5,987 930 & e | EHa—) 445 o] 5&%4 |- 5,350 500
(GE: it 796 -903 54 2t 6,603 1,019 154 =t 875 -60 54 2} 5,926 459
HHa—L 0 0 HHHa—L 0 0 HHa—L 0 0 HHa—L 0 0
ERRRE | - 6,160 3,141 EMHEHE | MEHa—y 0 -13 BARKE | - 2,450 950| ARG | EEAHa-v 0 0
it 6,160 3,141 it 0 -13 &t 2,450 950 it 0 0
A 0 0 Hfda—pn 1,800 0 HHa—n 0 0 HHa—y 1,800 0
RIESAR - RIEAR 3% | MEHHa—)) 3 SRES: - G4y MEFHa— 14,105 -2,187 EIE 2« GIE 4 356y fiEfH a— )L 0 OFIE « GIE4 353y fiEfH a— )1 14,855 -810
it 3 3 it 15,905 -2,187 gt 0 0 it 16,655 -810
Hia—pn 0 0 Hia—pn 0 0 HiHa—n 0 0 FAHa— 0 0
EHE G | EHEa- 1,270 432 AR |- 0 0 £ HE R | EHa- 1,000 2001 A B H | EEa- 0 0
&t 1,270 -432 it 0 0 &t 1,000 -200 it 0 0
HiHa—p 0 -1 HiHa—p 1,153 -17 HHHa—pn 0 0 AHHHa—L 1,140 -30
oK) M- )L 2,104 245 & O | - 11,656 2,413 Ol | -y 2,325 520 & o fh |MEHa-0 8,500 -2,420
it 2,104 244 it 12,809 2,396 &t 2,325 520 E 9,640 -2,450
Hia—n 15,870 -4,104 Hia—n 6,398 —1,055 HHHa—n 19,623 7,971 Hia—n 5,651 85
wE Et EFH -V 84,381 3,472 WA F EFHa—)L 84,381 -3,472 e R | - 69,361 2,513 # A F | EHa- 69,361 2,513
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CHLFD APk miH b UED) A PR RiH b CHLFD AXRFRE | #iH (GUED) AXFEE | miHk
HHa— 0 0 AHa—p 0 0 AHHa—py 0 0 AHHHa—py 0 0
R AE K | Mo 1,064 523 B R &% 3% | MEfHa— 5,325 -3,570 I ER A % | o 400 —140| #B 4R = % | Mo 2,840 ~960
s 1,064 523 i 5,325 -3,570 2 400 -140 s 2,840 -960
HHHa—L 141 50 HHHa—L 1,842 71 HHa—L 300 203 HHHa—v 527 -638
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s 2,084 -20 it 11,493 -1,316 3 1,735 -590 s 10,769 1,129
HHHa—L 22,095 6,225 HHHa—L 6,711 313 HHa—L 25,052 5,429 AHHa—v 4,884 -767
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